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2025.4.10(K)

08| 28] cmara | oy gy | £5 || BEA20HAR | 1AA15G [2RA15G] soGHM 3HE GBRJ 5~ FRYL) 15GHE
IR | &5 BRI laT/PIN G AVG | 15G AVG mi| 15G  AVG A6 e[ 31G 326 336[ 115|346 356 366] 125|376 38G 396| 135406 416 426| 145|436 446 456| 158[126 1/ AVG
1| 33|1&h 848 | 30F 10+ |#mR|==s| 9,550|42|227.38] 3,612 |240.80| 1| 3,578 |238.53 239.66| 1]|258 192 227|677(155 179 173|507|200 216 159|575|211 204 186|601 0 |2,360196.66
2| 16| Hz LHEC |[1/oT sa>+ | #aKR | sns| 9,145(42(217.73] 3,122 |208.13 10| 3,393 |226.20 217.16| 5|186 201 206| 593|227 269 224 720|245 224 180( 649|277 181 210|668 0 [2,630219.16
3| 5|&#F BA|osEF /UL |REE| Al 9,141 |42|217.64| 3,387 |225.80| 3| 3,234 |215.60 220.70| 3]214 199 199|612|221 219 200| 640|234 186 195|615|245 207 201|653 0 |2,520(210.00
4| 36|8H RF|~3Y 9N | KIRFF| =] 9,087|42(216.35| 3,003 {200.20| 20| 3,502 [233.46 216.83| 6]268 225 236| 729|164 243 150| 557|144 245 174| 563|285 215 233|733 0 |2,582/215.16
5| 24| = IREH |3>1 FV+|5WR(L | 9,056|42(215.61| 3,457 |230.46| 2| 3,277 |218.46 224.46| 2|205 177 182|564|233 167 170| 570|160 217 246|623|256 184 125|565 0 |2,322193.50
6| 9|fRER H|vonssmn |EER| | 8,997|42|214.21] 3,122 |208.13| 9| 3,349 |223.26 21570 7|207 202 222| 631|154 236 235|625|244 190 193| 627|212 204 227|643 0 [2,526/210.50
7| 10|f&K Kith| o<+ S F|HER| A| 8,996|42|214.19| 3,101 [206.73| 15| 3,309 |220.60 213.66|13] 265 214 224|703(220 249 200 669|201 182 181|564|224 214 212|650 0 |2,586/215.50
8| 18| Al IFE|rznD 9u7|keR £ | 8,950(42|213.09| 3,122 (208.13| 11| 3,295 |219.66 213.9010] 191 216 192|599|201 235 184| 620|137 214 232| 583|213 262 256|731 0 [2,533|211.08
9| 31|&FW X |asve2avs | kXDR|==| 8,941 |42|212.88| 3,252 [216.80| 6| 3,335 (222.33 219.56| 4]168 214 179|561(186 200 176| 562|225 188 246| 659|193 184 195|572 0 |2,354|196.16
10| 4|im BESL | vrvu+ o | ABRE| 5| 8,854 |42(210.80] 3,010 |200.66| 19| 3,450 |230.00 215.33| 8170 202 222(594|214 213 197| 624|213 192 167|572(224 191 189|604 0 [2,394199.50
11| 34| FER  H|oUNS 230 |FEE = 8,785/42|209.16] 3,029 |201.93|18| 3,242 |216.13 209.03(17]201 267 162(630(233 213 166 612|193 193 239|625(246 202 199|647 0 [2,514/209.50
12| 13|#HIFHRFE | =95« 7+c0 | BER | w=s| 8,748|42|208.28] 3,270 |218.00| 4| 3,110 |207.33 212.66| 14186 167 172|525|267 222 181/ 670|201 216 164|581(217 205 170|592 0 |2,368|197.33
13| 19T #E|9r> 90X |BiRE =] 8,695|42|207.02] 3,129 |208.60| 8| 3,284 |218.93 213.76| 11] 146 193 207|546|162 194 182| 538|145 183 224| 552|197 201 248|646 0 |2,282|190.16
14| 29|B% S8 |/\XF I |wsnr| == 8,695|42|207.02] 3,043 [202.86|17| 3,407 |227.13 215.00| 9]214 185 188|587(193 170 190| 553|191 219 164|574|171 168 192|531 0 |2,245|187.08
15| 14| =7 &kF|svEraovs |HER|E | 8,648|42|205.90] 3,081 |205.40| 16| 3,284 |218.93 212.16|15|179 198 202| 579|164 178 170|512(189 175 179| 543|215 245 189|649 0 [2,283|190.25
16| 35K ZE& \vx+vheo|FER| A| 8,604|42|204.85] 3,114 |207.60/ 12| 3,205 |213.66 210.63|16]202 212 213|627(210 172 200| 582|179 126 180|485|221 182 188|591 0 |2,285|190.41
17| 6|llE B | rvo+rA4v|BNR|E | 8,577|42|204.21] 3,150 |210.00| 7| 3,262 |217.46 213.73|12] 226 156 171|553|198 172 181| 551|160 214 177|551|174 167 169|510 0 |2,165|180.41
18| 2| LLEEEARER v+ avs0 | FER| A| 8,570|42|204.04] 2,940 [196.00| 23| 3,207 |213.80 204.90(22] 181 181 199|561|268 223 200| 691|233 212 200| 645|178 159 189|526 0 |2,423|201.91
19| 3|&EK KB UL+ 1oy |88 4| 8,567|42|203.97| 2,939 |195.93| 24| 3,244 |216.26 206.10|20] 245 157 189|591(192 175 189| 556|215 187 188| 590|202 222 223|647 0 |2,384|198.66
20| 11| EE|VPIFH LA | TR ==s| 8,554|42(203.66] 3,110 |207.33| 14| 3,056 |203.73 205.53|21]210 205 191| 606|194 236 186| 616|184 217 190 591|232 171 172|575 0 |2,388199.00
21| 26| Lkg BBX|vxy+ 2395 [ELR| H| 8,441|42(200.97| 3,255 |217.00| 5| 2,948 |196.53 206.76|19] 203 185 211[599|197 176 201| 574|186 211 140|537|208 155 165|528 0 |2,238/186.50
22| 23|BH X IJ>1 H17 | BER =] 8,440]42|200.95| 2,925 (195.00 25| 3,075 |205.00 200.00|26]170 204 211|585|210 227 192| 629|147 226 223| 596|213 237 180|630 0 |2,440203.33
23| 12|82 & |vsr~uvo |BIIE| &l 8,414|42|200.33| 3,112 |207.46{ 13| 3,112 |207.46 207.46|18] 196 173 171|540|172 221 175|568|172 166 160|498|200 192 192|584 0 |2,190|182.50
S I8 B £ K 8,400 42/200.00] 3,000 |200.00 3,000 |200.00 200.00 200 200 200/ 600|200 200 200{600{200 200 200{600(200 200 200|600 0 | 2,400|200.00
24| 22|EE RE D93 hIT | BiRIE| s 8,362]42(199.09| 3,002 |200.13|21| 3,097 |206.46 203.30| 23] 255 191 172| 618|182 160 153|495(200 221 179/ 600|173 185 192|550 0 |2,263|188.58
25| 1({FIF JHE EUYF <o+ | BHE s 8,329|42(198.30| 2,841 (189.40|30] 2,964 |197.60 193.50| 31| 197 214 276/ 687|180 221 214|615[171 234 184| 589|233 180 220|633 0 [2,524/|210.33
26| 15(/\H ## |AS HX+ |mER|A | 8,319|42(198.07| 2,752 |183.46|35] 3,227 |215.13 199.30( 27| 230 176 199| 605|186 149 170|505(212 195 147| 554|221 246 209|676 0 [2,340/195.00
27| 27|55k  ZmlaxFrsuav|aER| G| 8,268|42|196.85| 2,894 [192.93| 26| 3,115 |207.66 200.30| 25173 150 151|474(227 168 213|608(201 170 229| 600|215 184 178|577 0 |2,259|188.25
28| 7|AA WA |FOF U |#EK| G| 8,224|42|195.80| 2,883 [192.20| 27| 3,147 |209.80 201.00(24]159 145 172| 476|166 183 169 518|201 206 173|580(213 222 185|620 0 (2,194 |182.83
29| 17 (&% 16#))ULF 10+ 55| ==+ 8,191|42|195.02| 2,942 (196.13|22] 2,996 [199.73 197.93| 28| 169 189 244| 602|186 172 202|560|182 141 195|518|155 215 203|573 0 |2,253|187.75
30| 28| A%k XEF|v1sEv y=9n |RR#| A| 8,099|42|192.83] 2,861 |190.73| 29| 3,012 |200.80 195.76(29| 174 180 156| 510|187 255 184|626|170 187 192(549|202 161 178[541 0 |2,226|185.50
31| 25(dt  XFE|F4 O |==ue| A| 8,056|42(191.80| 2,789 |185.93| 32| 3,016 |201.06 193.50|32| 190 195 214| 599|186 160 194|540|205 182 186(573|191 159 189|539 0 |2,251|187.58
32| 20| aH f—|r>9 2217 |RR#| A| 7,997|42|190.40| 2,776 |185.06| 33| 3,037 |202.46 193.76| 30| 187 160 162|509|172 207 178 557|168 214 164| 546|182 205 185|572 0 |2,184|182.00
33| 32| BB ) \ero sazy | HER = 7,959|42|189.50| 2,759 |183.93| 34| 2,989 |199.26 191.60|33| 184 175 161|520(221 189 173|583|208 211 168|587|184 167 170|521 0 |2,211|184.25
34| 8|1EE BA|/\rx v | E=R#E| &| 7,872|42|187.42| 2,863 |190.86| 28| 2,853 |190.20 190.53| 34| 208 201 210(619|153 139 192| 484|181 183 191|555[169 192 137|498 0 |2,156|179.66




